SRR OD 2ib A5 1 15 JE B AR 3%

sl RTIL - IREE B TERT INE

(HEak ) MR B MY | MR
N # 3,780 2,435 175,273 1,333 12
X &8 2,797 2,021 161,081 764 12
T 1+ £ B K 129 102 16,704 27 —
2 |# 4 X 179 141 19,146 38 —
3 |I& X 219 167 28,579 52 —
4 |Fr Vi X 310 242 19,724 63 5
5 |X = X 46 38 3,473 8 —
6 |& B X 598 366 16,908 230 2
7 |2 H X 148 98 4071 50 —
8 |IIT B X 88 70 7,397 18 —
9 & JI X 109 85 8,547 23 1
10 |8 = X 34 27 1,333 7 —
11 | KR H X 110 80 6,997 30 —
121 B & K 51 39 537 10 2
13 [#% =B X 150 130 6,782 19 1
14 | g X 47 18 283 29 —
15 |#2 it X 39 33 738 6 —
16 & = X 230 191 11,223 39 —
17 |4t X 47 28 1,968 19 —
18 |5% JI X 81 37 1,004 44 —
19 |1k 5 X 32 19 529 12 1
20 |#& 5 X 9 8 390 1 —
21 | B ir X 44 34 1,214 10 —
22 | & i X 47 25 935 22 —
230 F Il K 50 43 2,599 7 —

F314E3A31 BIRADERE < H#: @i - ARG FR(TR30FE) BitRER) >

HAMEA
REHEH
FRAK 501 A
R 1,110 A
AR 1,037 A
e 843 A
XRX 17 A
BRK 242 N

HAEILA
REHEH
THRK 478 A
an ) 11X 348 A
KHEKX 1561 A
AR 306 A
25K 17 A
JEX 29 A
< H 8 fERRITHETAE (UNTO) >

SEEHS

% RTIL - AR wmeER | B

(HEEk 30 BSR4 EEY MY | MR
izl B 338 283 12,519 55 —
1T\ £ F 64 58 2,653 6 —
2 |3L JI il 38 37 1,912 1 —
3K B ® m™m 14 12 730 2 —
4 |= & m 2 1 67 1 —
5 |&F i3 il 44 23 383 21 —
6 |FF F m 23 23 1,334 — —
7 |Hg 5 M 13 12 401 1 —
8 8 & ™ 6 6 044 — —
9 |ET H il 31 28 1,719 3 —
10/ & #F m™ 2 2 16 — —
11 /N F il 5 4 77 1 —
12 |H g ™ 3 3 127 — —
13/ & W @ 17 17 319 — —
14 D F W 10 10 231 — —
15 ir il 6 6 172 — —
16 1@ o il 3 2 258 1 —
17 138 Pl m 2 2 8 — —
18| X # 4 4 63 — —
19 # — — — — —
20 8 A B ¥ w 2 2 187 — —
21 & & & W & 3 3 47 — —
22 | % B m 7 7 640 — —
23 |Fg b1 ™ 3 3 385 — —
24 |3 S il 4 4 229 — —
25 | = % B ™ 28 10 229 18 —
26 18 ® W ™ 4 4 88 — —
iin g N il 645 131 1,673 514 -
1 |5 ¥ BT 8 8 200 — —
2 B o H H® 4 — — 4 —
3 & JR 5} 34 7 59 27 —
4 | % E M 33 12 114 21 —
5 |X = iy 110 32 441 78 —
6 |F 5 At 12 1 6 11 —
7 \#Hr = S 106 10 118 96 —
8 | 2 B N 82 26 201 56 —
9 = =2 & 41 13 120 28 —
0 #H B &5 # 13 2 17 11 —
11 [\ X ity 85 16 353 69 —
122 v & & 8 — — 8 —
13/ Z R # 109 4 44 105 —




